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FUINKZE (P) 3 28 7 6 44 108K
RBEHE XZ (L) 0 7 0 0 7 0% 18X
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F—L Q Ef  PLAY PLAYER(S) ¥Y—FK TFP PLAYER(S) G/NG
AMKE |1 8:28 FG | #14 X% 35
AMKZE | 2 0:09 RUN | #23 LUK 6 K |#14 X% G
AMKZE | 2 4:43 RUN | #23 LUK 2 K | #14 X% G
BHKE | 2| 646 | PASS |#48iK—#2 BA 76 K [#11 B0 G
AMKZE | 2 7:58 | PASS | #9 E—#25 = # 10 K |#14 X% G
AMKE | 2 | 11:21 | PASS | #9 BE—#17 BR 10 K |#14 X5 G
A KZE | 3| 11:41 | PASS |#9 BE—#13 F H 15 K |#14 X% G
AMKZE | 4 1:55 FG | #14 X & 39
AMKE | 4| 8:26 FG | #14 X% 22
F— L & FIN K% EEBBEKRE
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PASS
= a7 @& | A% | v—F | TD[INT
4|85 AK 25 11 168 1 1
RUSH INTERCEPTION
&2 [%a % | v—F] TD &5 [z E#% | ¥—F ] 71D
4 wh 95 6] 21 0
10 | &H —H A3 0
wE 1B 6 0
BA AR 14 0
RECEIVE QB SACK
&2 [%a % | v—F] TD = [am E# | v—F
2 BA EE 5 116 1
81 =l B 3 27 0
6 FA A 2| 18 0
90 e K 1 7 0
A
PASS
= a7 @& | A% | v—F | TD[INT
9IE —HE 17 10 135 3 0
18|mA FHH 4 2 9 0 0
RUSH INTERCEPTION
= a7 E% | v—F]| TD &5 |2 E#% | ¥—F ] 71D
23 L 20 107 2 35 AR EHE NR 0
27 BF BR 5 66 0
14 X% ZF 4 11 0
18 | Bk BB 2| A2 0
9 B —iE 2 5 0
35 AR HE 1 Al 0
15 WA ZFA 1 YAV 0 QB SACK
&2 [# % | v—F
RECEIVE 97 He Bt 15
&2 [# E% | ¥—F] TD 51 | A% EA 1
8 WA KE 3 38 0 35 AR B 7
15 WA FA 3 47 0
13 HH = 3 37 1
25 =& & 1 10 1
17 FR A5 1 10 1
81 | BN AR 1 2 0




